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the process by which green plants and some other organisms use sunlight to
synthesize foods trom carbon dioxide and water. Photosynthesis in plants

generally tvolves the green pigment and generctes 0xygen as a |
byproduct.
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Jj Gellular respiretion 1s a set of metabolic reactions and processes that take place in the
mrtochondria ot cells of organisms to convert biochemical energy from nutrients into
adenosine triphosphate (ATP), and then release waste products.
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to make two molecules needed for the next

stage of photosynthests: the energy storage (‘ oo fake place i plant chloroplasts. In his
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molecule: ATP and the reduced electron carrter " process, sugans are made from carbon dioxide. The process, knovm as
T T\ NADPHL I plants, the light reactions take place ; the Calvin cycle, uses producks of the light-dependent reactions (ATP
e e <= &1 the thylakotd membranes of organelles called =~ [ Swer ] and NADPH) and varfous enzgmes.

chloroplasts.




Photosynthesis

Cellular Respiration

Chlorophyll

Heterotroph

6CO, + 6H,0 + (energy) - C,H,,O, + 60,

C,H,,0.+ 60, > 6CO, + 6H,0 + 36 ATP’s(energy)
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